
VINGLI FILE CABINET
ASSEMBLY INSTRUCTION FOR MODELS: FC0WVLW

Thank you for purchasing from VINGLI!
Please contact us via email if parts are missing or damaged,we will
gladly ship your replacement parts free of charge.Please attach your
Order ID so that we can assist you better.

THIS NSTRUCTION BOOKLET
CONTAINS IMPORTANT SAFETY
INFORMATION.PLEASE READ

AND KEEP FOR FUTURE
REFERENCE.

Tool Required Not Provided

EMAIL WEBSITE ! IMPORTANT

support@vingli.com www.vingli.com

2PERS

 / FC0W1BB









MODEL&ASSEMBLY TIPS

OVERALL SIZE:



IDENTIFY PARTS

4

1 case shipment

1

2
4

5

3

6

7

109

8 10

11

12

13

14 23

16

17

19
21

18

20

22

14

15

16



PART LIST

5

Bx25(+2)

 6x35mm  15x10mm

1 x1 2 x1 3 x1 4 x1

5 x1 6 x1 7 x1 8 x1

9 x1 x210 x111 x112

x214 x115 x216x113

Ax25(+2)

18 19 2017

2221 x1 x1

x1 x1 x1 x1

Cam Bolt Cam Lock

Drawer Back Panel Drawer Bottom Panel Drawer Support Panel

Drawer Left Panel Drawer Right Panel

Drawer Front Panel

Door PanelIron Side Frame Iron BraceLower Back Panel

Top Panel Separate Panel Bottom Panel Upper Left Panel

Upper Right Panel Fixed Shelf Adjustable Shelf Back Connecting Strip

Back Support Panel Upper Back Panel Lower Left Panel Lower Right Panel

x123

lron Brace



 4x35mm

M-1

M-2

Cx20(+2) Dx11(+1)

 6x30mm  4x35mm

Hx12(+1) Jx2

Ex4

M6x40mm

M6x30mm

Gx2

Fx4

Ix4

M4

Kx1 Mx2Lx12 Nx4

Ox12

 3x16mm

Px2 Qx1

Q-1
Q-2

Rx4

 3.5x16mm

Sx6 Vx4Ux2 Wx2

 6x30mm

Xx36(+3)

PART LIST

6

 4x14mm

Zx2Yx2

Wood Dowel Screw

Adjustable Leveler Drawer Slide

Hexagon wrench Mending Wedge Anti-tipping Device Shelf Support Peg

Screw Arched Handle File Lock

Hinge Long Hanging Rod Short Hanging Rod Expansion Screw

Anti-collision Rubber Pad Screw Arched Handle

Screw

Screw Screw

Screw

Screw

ScrewScrew

3.5x12mm



ASSEBMLY STEPS

J

J-1
J-2 J-2

J-2



ASSEMBLY STEPS

8

STEP 1

Mx2
M-1 M-2

Ax4
 6x35mm

A

A

A

A

M-1

M-2

1

M-2

M-1

Fix the Anti-tipping Device(M-1) on Panel #3 with
Screw(M-2)
Screw the Cam Bolt(A) to Panel #1



9

ASSEMBLY STEPS
STEP 2

4

5

A

A
A A

AA

A

A

Ax8
 6x35mm

Screw the cam bolt (A) onto the panels # 4 and # 5



ASSEMBLY STEPS

10

STEP 3

5
6

9

 15x10mm  6x30mm
Cx2Bx4

B

B
B

C

C

B
6

C

Insert Wood Dowel(C) into Panel #6 #9 first,and then connect
Panel #5 to them with Cam Lock(B)



ASSEMBLY STEPS
STEP 4

11

4

5

6

9

B
6

C

C

B
B

 15x10mm  6x30mm
Cx2Bx4

Insert Wood Dowel(C) into Panel #6 #9 first,and then connect
Panel #4 to them with Cam Lock(B)



ASSEMBLY STEPS
STEP 5

12

2

4

5

 6x30mm
Cx4 Dx4

 4x35mm

C

D
C

D

C

D
C

D

Insert the Wood Dowel(C) into Panel #4 #5 first, and then connect
Panel #2 to them with Screw(D)



ASSEMBLY STEPS
STEP 6

13

4

5

6

10

8

10

10

10

8

First, clip two Panel #10 and Back Connecting Strip #8 together,
and then push them in along the grooves on Panel #4 #5



ASSEMBLY STEPS
STEP 7

14

1

4

5

6

10

 15x10mm  6x30mm
Cx4Bx4

B

5
C

C

C
C

B

B

B

B

Insert Wood Dowel(C) into the top of Panel #4 #5 first and then
connect Panel #1 to the cabinet body with Cam Lock(B)



ASSEMBLY STEPS
STEP 8

15

2

4

Ax4
 6x35mm

A
A

A

A

Screw the Cam Bolt(A) onto Panel #2

2



ASSEMBLY STEPS
STEP 9

16

11
12

Hx6
J-1

Jx2
 3.5x12mm

J-1

J-1
H

H
H

H H

H
A

A
A

A

Ax4
 6x35mm

Attach the drawer slides to Panel #11 #12 with Screw(H)
Kind Tips: The pre-drilled holes for locating the drawer slides are
relatively small, look carefully. Please don't worry, they are there
Screw the Cam Bolt (A) onto Panel #11 #12

J-1

H

H

H

Front View

Back View
J-1

J-1

H

H H

12



ASSEMBLY STEPS
STEP 10

17

3

11

12

 15x10mm  6x30mm
Cx4Bx4

B

B
C

C

C

C

B

B

Insert Wood Dowel(C) into Panel #3 first,and then connect Panel
#11 #12 to it with Cam Lock(B)



ASSEMBLY STEPS
STEP 11

18

14

14

15

M6x40mm
Fx4

M4
Kx1

F

F

K

8

9

F

F

F

Build the iron frame part

23



ASSEMBLY STEPS
STEP 12

19

3

11

12

14

M6x30mm
Gx2

G

K

G

Ex4
 4x35mm

E

E

E

E

E

G

Connect the iron frame part to Panel #3 with Screw(E G)
Note to use the correct screws

!

!

15

15

14

14



STEP 13

20

3

11

14

Ix4

I

I
I

I

ASSEMBLY STEPS
Connect the Adjustable Levelers to the bottom

14

I



ASSEMBLY STEPS
STEP 14

21

3

11

12

13

Insert Panel #13 along with the groove



ASSEMBLY STEPS
STEP 15

22

2

3

4

11

12

 15x10mm  6x30mm
Cx4Bx4

B

B

C

C

C
C

B

B

Insert the Wood Dowel(C) into the top of Panel #11 #12, and then
connect the upper and lower parts together with the Cam Lock(B)



ASSEMBLY STEPS
STEP 16

23

1

5

9

12

13

10
10

O

L

L

L

L

L
O

O

O

O

O

O

O

O

Lx12 Ox12
 3x16mm

Fix the Mending Wedge(L) with Screw(O) as picture shows for
more stability

O
O

L O

L
O



ASSEMBLY STEPS
STEP 17

24

1

4

11

WALL

M-1

M-1

drilling hole
 6x30mm

WALL WALL WALL

x2 x2 x2

W

 6x30mm

Dx2 Wx2
 4x35mm

D

D

W

Drill holes in the wall, insert Expansion Screw(W), and fix the
item to the wall with Screw(D) for safe use



ASSEMBLY STEPS
STEP 18

25

1

4

5

7

11

Nx4

N

N

N
N

N

5

Insert the Shelf Support Peg(N) as needed and place the
Adjustable Shelf #7 accordingly



ASSEMBLY STEPS
STEP 19

26

16

XX

XX

S XX

S

S

X2

Xx12
 4x14mm

Px2

P
P

P
P

P

P

Sx6

Fasten hinge and handle to door panel # 16 as shown



STEP 20

1

4

5

11

16

16

27
Xx24

 4x14mm16

16

S

S

Xx4

Xx4

Xx4

Xx4

Xx4

Xx4

ASSEMBLY STEPS
Fasten the door hinge to the cabinet with Screw(X). Adjust 
the hinge to even the doors without protruding from the 
cabinet

Turn to the page #37 to see "Guide to Hinge Adjustment" 



28

ASSEMBLY STEPS

1

4

11

16

16

!

Y
Y

6

6

STEP 21

Yx2

Confirm where the doors collide with panel #6 by opening
and closing the doors, and attach the anti-collision rubber
pads in places to reduce noise



ASSEMBLY STEPS

29

STEP 22

Front

Back

J-2

J-2

H H H

J-2x2
 3.5x12mm

Hx6

J-2
J-2H

H
H

H
H

H

Time to assemble the drawer!
Connect the Drawer Slide(J-2) to Panel #21 #22 with Screw(H)

21
22



ASSEMBLY STEPS
STEP 23

30
Ax5

 6x35mm
Zx2Rx4

 3.5x16mm
Qx1

Q-1
Q-2

Screw Cam Bolt(A) to Panel #17;
Fix Lock and Handles to Panel #17 as picture shows

17

17

A

Q-1

Q-2

Rx4

Rx4

A

A
A

A

A

Q-1

Z
Z

Z
Z

Z

Z

17

Q-2



ASSEMBLY STEPS
STEP 24

31
Dx1

 4x35mm

Connect the Drawer Back Panel #18 to the Drawer Support
Panel #20 with Screw (D). Note to distinguish the front and
back of the Drawer Support Panel

D

!
18

20

20



ASSEMBLY STEPS
STEP 25

32
Dx4

 4x35mm
Ux2

First pass the Long Hanging Rod(U) through the end of the
Movable Hanging Rod(T) with loop first, then insert the Long
Hanging Rod(U) into the drawer side panels while securing
Panel #21 #22 to Panel #18 with Screw (D)

D

D

D

D

U

U18

21

22



ASSEMBLY STEPS
STEP 26

33
Vx4

Insert Panel #19 along with the groove;
Insert the Short Hanging Rod(V) into Panel #18 before next step

V

V

18

19

21

22

V
V



ASSEMBLY STEPS
STEP 27

34

 15x10mm
Bx5

Attach Panel #17 to the drawer body with Cam Lock(B)

17

19

21

B
B

B

B

B

B

20

20

22



ASSEMBLY STEPS
STEP 28

35

Pull Drawer Slide(J-1) out first, and the ball along with it to the
front; Keep the drawer level and insert the drawer with the slides
aligned.Note! Failure to level may result in damage to the slides

1

4

11
17

(1)

(2)

J-1

J-1

J-2



STEP 29 The installation is complete

WALL

ASSEMBLY STEPS

36



37

GUlDE TO HINGE ADJUSTMENT



38

 OPTIONS OF FILE STORAGE
 Option 1

 

Option 2

 

Option 3

Le
tte

rS
iz

e

Letter
Le

tte
r

Letter

Legal

Place the Movable Hanging Rods as needed

 

Option 4

Le
tte

r

Legal



FAQS

39

1.What should I do when I received a defected item or missing parts?

Please feel free to contact VINGLI customer service via the link where
you purchased this item with your order ID, pictures & sticker number of
the defective/missing parts to us. We are eager to help you to make it
right.

2.What should I do if I have a problem with the drawer not closing
flush?

It is usually caused by the assembly of the drawer slides. Here are the
solutions as below:

1)Please check whether the slide rail is damaged, for example, the ball of
the slide rail has fallen out. If so, please ask us for replacements of the
drawer slides;

2)Refer to the assembly manual to check if the holes for the drawer slides
are assembled correctly. If there is no problem with the assembly, but the
drawer slides are stuck in the process of pushing in, please take out the
entire drawer through the release button on the slides (Left Side Up and
Right Side Down), and then push it back in again.

3.Why are the doors misaligned?

1)Please follow the "Guide to Hing Adjustable" to even the gap of the
doors.

2)Adjust the levelers to even the cabinet.

4.What should l do when file cabinet wobbly?

1)Make sure each panel has been connect to each other properly, and all
screws have been tighten after assemble
2)Find out that wobbly part, and if it is the screw cannot tight, you can try
to add on a washer to help
3)If still not work, please feel free to contact our customer team with the
wobbly part detail, and we will help you




